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Q.5 a. Explain following ARM instructions

i) ADD R3, R2, R1ii) CMP R8, R2iii) TSTRZ, R5 iv) STMFD R13 [RO

b. Design 8051 based system with following specifications

i) 16 Kb RAM using 8 Kb devices

ii) 16 Kb ROM using 8 Kb devices

Q.6 Write short notes on any 4

a. Power saving modes of 8051

b. DC motor interfacing with 8051

¢. Key architectural features of

05

d. Interrupt structure of
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[Time: Three Hours]

Please check whether you have got the!

N.B: 1. Question.No.1 is compulsory.
2.
3.
4,
o Qj‘ m} o,
Q.1 a) Design a differentiator to differentiate the |@@§1g‘ﬁaﬁb§% aries'in:f
el ol o

b) Compare ego crossing detector with Schmttt\{rlgggr cgri;u‘}tﬁ‘- <

S

c) Explain Resolution, Accuracy and settlmg time wﬁhvres ectt E{
d) Explain Inverting mode current ampllfler CII’CLlIt u§mg @PAMF;.

s SIS oy o o o e D 10

Q.2 a) Define the following ' ST R ¢ TS
i) Slew Rate TR R S <y
ii) CMRR
iii) Input offset voltage
b) Draw neat dlagram of | Ir s\trum@nf: ol 10
Vo}tage \ .~. ?}\ A _" e
Q. 3 a) Explain Wavmg ‘{‘R(?.R Iadder Dfi 10
b) Destgn \{_ol ' guLaf I".to g{we Vo 10
Q.4 a) Expiam'ﬂstable:?nmltinlbrataw,gmgﬁgiamg\ ST 10
b) Deslgn 2 2"" orderrKRC Io _-.pass fllter wlttrcutuff f% ﬁ&hcy to =1kH; and Q=5 10
Q.5 -‘a‘}\Des;gn Monostable multwlbrator usmg IC_ ""55 ;o generate output delay of 10 ms. 10
. .\&,\'\\;\'bﬁEw@*annterna! diagram of "ower amghfleu.M;a*SD 10
R (‘-\ .;\_?3::' > =iy
é}igp‘l‘amju n:tgomof each 10
51@@{51@\5‘(@%3143? N wa; to get the output frequency at 1.5 kHz and Vop—p)=7-5V using 10
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g1

a) Compare MOM, FDM, and FEM.
b) State and explain Biot Savart’s La
¢) Derive wave equations for time

d) Define: Critical frequency,

N.B. (1) Question no1 is compulsory
e) Define skin depth and de:

Q 1. Answer the following (Any 4)
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(10)

a helical antenna and draw its radiation pattern.

shight

3

S

(10)

ctric field at a boundary between 2 dielectrics,

(10)

strength of a space wave signal.

and MUF., Also derive an expression for MUF.

(10)
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[Time: - 3 Hours]

-

ng ag
heo

the Matched f

DT

’s theg

ted to 8 Hz sampled 4

imi
S

u

i
S1
0.40

at 5 levels with probabilities 0-5, 0:125, 00625,

Calculate entropy and information.
(¢e)What is EYE PATEERN? Explain its_

(c¢) What is optimum receiver? Explain in d
(d) Explain Lempel-Ziv Coding in detail

(g) State and explain central limit t
(h)State and explain Shannon

(f) Differentiate between Source Cod
(i)Why MSK

(a) An Analog Signal is band |
(b)Explain with neat block diagram

Answer ANY FIVE

(DConstruct H

2. Solve ANY THREE questions from Q2 to Q6
3. Assume suitable data wherever necessary and state

1. Question No.1 is compulsory
Q2. (a) A discrete memory less so

N.B.

Q.1
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(b) Prove that for the 16-ary QASK digital modulation techn!

transmitted in BFSK? What type of receiver is used for BFSK re
d=2v0-4Eb

(a) With the help of neat block diagram and waveform, ex
Where Eb is normalized energy per bit also draw s

for 16-ary QPSK and Compare with 16-a

Then calculate processing gain and gain margin
Answer ANY FOUR of the following

(a) Explain significance of AWGN channel.
(b)Explain Line codes and their desirable
(¢) Differentiate between BPSK, DPSK and.

Ql 51
Q.6.
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